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PART A: Vocabulary & Grammar
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- Thank you very much for your e-mail --=------- —— was very interesting.
1) which 2) that 3) why 4) when
77-  Jack -----——----——- up early in the mornings, but yesterday he ------------——- up at 6 o’clock.
1) wakes never/ woke 2) woke never/ woke
3) never wakes/ woke 4) never wakes/ wakes
78- A driver -----=---sm=mem- stop when the traffic light is red.
1) should 2) can 3) have to 4) must
79- Last night I -—-------—----- to a restaurant by a friend from Australia.
1) have invited 2) have been invited
3) invited 4) was invited
80- If they --—----——--— my advice, they —---------—--- that problem.
1) follow/ wouldn't have 2) followed/ wouldn't have
3) would follow/ didn't have 4) had followed/ didn't have
81- They should always be fitted with a pan of water to ---------------- the necessary humidity
to the warmed air.
1) prevent 2) supply 3) serve 4) choose

82- He was unaware of some errors he had made when translating an important -----------—-—-—--
for his boss.

1) document 2) education 3) permission 4) interest

83- They should take -------—----—--- actions to prevent the fire from spreading to other
buildings. '
1) different 2) generous 3) immediate 4) sudden

84- 1 would like to -----------————-- this song to my mother.

1) generate 2) inspire 3) dedicate 4) suppose



1Y axéno eSS b3

85- It was her ----—-----——-—- now and having a job would give her the opportunity for a more
modern approach to being a wife and a mother.
1) responsibility 2) surrounding 3) inspiration 4) emotion
86- The teacher was so -——--------—------ at persuading students to study more.
1) quick 2) effective 3) interesting 4) practical
87- The order of the inorganic world is explained ---------------- by physical causes.
1) luckily 2) honestly 3) ethically 4) properly

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Before the invention of reading and writing, people lived in an environment in which

they struggled to survive against (88) ---------------- forces, animals, and other humans.
To survive, preliterate people developed (89) ---------------- that grew into cultural and
educational patterns. For a particular group's culture to continue into the future, people
(95) --------mmmmme- transmit it, or pass it on, from adults to children. The earliest
educational processes (91) ---------------- sharing information about gathering food and
providing shelter; making weapons and other tools; learning language; and
(92) --------==m=-- the values, behavior, and religious practices of a given culture.

88- 1) general 2) physical 3) mental 4) natural

89- 1) causes 2) identities 3) skills 4) chances

90- 1)hadto 2) can 3) must 4) were

91- 1) involved 2) imagined 3) reflected 4) varied

92- 1) were acquiring  2) had acquired 3)-acquiring 4) acquired

PART C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

There is a story round at the moment about a well-known j ournalist who went to
interview Jack Parrish at a smart New York restaurant. The journalist was late, but
fortunately, when he arrived, he found the great man was not yet there. On the way to
his table, the journalist noticed a colleague from his paper and stopped to chat to her.
After fifteen minutes, a waiter approached him. There's some young man at the door
who says he's supposed to be having lunch with you. I think he's trying to be funny,
because he says his name is Jack Parrish!'

But of course it was. The twenty-four-year-old is becoming famous for the fact that he
doesn't look like the owner of one of the world's most successful computer companies.
His manner is polite, his voice is quiet and his clothes are clearly not expensive. Two
years ago, when he started his own company, no one had heard of him. Friends say that he
hasn't changed at all. He hasn't even moved out of his parents' house. so what does he do
with his money? It's all used for business. But some people in the computer world are
getting nervous - and they are right. It won't be long before someone in another company
picks up the phone to hear that quiet voice saying that he's the new boss.

93- Someone could find out from the text ---------------- .
1) how Jack Parrish runs his business 2) what Jack Parrish said in an interview
3) how to get a job in Jack Parvish's company 4) what the writer thinks Jack Parrish will do next
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94- How did the journalist pass the time while he was waiting?

1) He phoned his office. 2) He talked to another journalist.

3) He talked to a man at the next table. 4) He interviewed a woman in the restaurant.
95- The waiter thought the young man at the door of the restaurant -----------eeee-,

1) was not as old as he said he was 2) was pretending to be someone else

3) was behaving rudely 4) was a journalist
96- What is the writer's attitude to Jack Parrish?

97-

98-

1) He would be an interesting person to work for.

2) He should be more carful how he runs his business.
3) He is a good example for young people.

4) He is more important than he appears.

PASSAGE 2:
I'm a scientist and I arrived here in Antarctica three months ago in December. The

temperature is cold but not unpleasant yet. Since arriving I've worked with about 60
other people getting ready for the Antarctic winter. It's been a lot of hard work, but it
was fun too. However, a few days ago the ship left taking most of the staff with it, and
it won't be back to fetch us until next December. So the hardest thing to get used to is
that there are now just fourteen of us because I'm used to working in a large company.
I'm living on the same work station I was on ten years ago. It was new then and it's
still in good condition and unchanged. The dried food we get is also the same - you
forget what real food tastes like after a few weeks. The people working here with me
are all different from then, but I'm always happy getting to know new people. Ten
years ago we were able to send faxes to friends and family once a month but today we
can send e-mails and talk on the phone so we don't feel so far away.
last week we went out exploring for a few days. Wesslept in our very thick sleeping
bags to keep the cold out. We always have to wear the right clothes and boots for
walking on ice and snow. We were joined together by a rope all the time in case we
fell into any holes in the ice. They're too deep to climb out of. The skies were clear and
I was reminded how lucky [ am to be here. Soon we will get amazing sunsets too.
The writer is trying to ---------=--e-—
1) complain about his life in Antarctlca
2) persuade people to work in Antarctica
3) describe his own experiences in Antarctica
4) suggest ways of improving life in Antarctica
What is difficult for the writer at the moment?
1) The weather is too cold.
2) There is too much work to do.
3) The ship won't return for months.
4) He 1s working with a small number of people.

99- In the writer's opinion, what has improved since ten years ago?
1) The food is more tasty. 2) communications have improved.
3) The living accommodation is better. 4) His collegues are easier to work with.
100- What particular danger was there when they were exploring?
1) the holes in the ice 2) slipping on the ice
3) getting lost 4) the cold
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